Some more word problems:

A full jar holds 2/3 Ib of jelly. How much does 3/4 of a jar of jelly weigh?

Mike has 3 Ibs of candy. He wants to put 1/4 |b of candy into each bag. How many bags can he fill?

John has 3 Ibs of candy. He wants to put 3/4 Ib of candy into each bag. How many bags can he fill?

Sarah has a pitcher that is 1/4 full of water. There are 3 cups of water in it. How many cups of water can her full
pitcher hold?

Jenna has a pitcher that is 3/4 full of water. There are 3 cups of water in it. How many cups of water can her full
pitcher hold?

Kylie has a pitcher that is 2/3 full of water. There are 3 cups of water in it. How many cups of water can her full
pitcher hold?

Paula has a pitcher that is 2/3 full of water. There is 3/4 of a quart of water in it. How many quarts of water can
her full pitcher hold?



